Math 16A (Summer 2010)
Kouba
Quiz 1
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1.) (10 pts.) Determine the x- and y-intercepts for y = ¢ — 4z. Then sketch the graph of
this equation using appropriate labeling of your diagram.
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2.) (10 pts.) Determine the center and radius of the circle given by : 22 +y?+2y =22 +7
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3.) (10 pts.) Find an equation of the line in slope/intercept form (y = ma + b) passing
through the point (2, —3) and which is parallel to the line ¢ +2y =4 .
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4.) (10 pts.) Let f(z) =
tion f(g(z)) .
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5.) a.) (5 pts.) Determine the domain of f(z) =7 =3z
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b.) (5 pts.) Determine the range of f(z) =5+ 3cosz. S/W WM .
Range = a<y <3




